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1 S¢ x 7 = 1 L3 X 3
2 26 X L = 2 6/ X 7
3 746 x5 = 3 L5 X L
4 40 x 9 = 4 S5 X X
5 3 x 7 = 5 /S5 X ¥4
6 65 X & = 6 7L X 3
7 24 x & = 7 b4 X L
8 LY X 5 = 8 LYEL X 3
9 45 x 46 = 9 VA S
10 &7 x 7 = 10 7L X 4
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1 S¢ x 7 = L3& 1 L3 X 3 = &7
2 76 X L = /7L 2 6/ x 7 = 547
3 76 X 5 = 3850 3 L5 X L = 56
4 40 x 9 = 60 4 J&E X L = 70
5 3 x 7 = 58/ 5 /3 X 4 = 5
6 65 x & = 520 6 74 X 3 = L/ 6
7 74 x & = 564 7 (4 X L = /LE
8 L4 x & = /L0 8 L4 X 3 = 7L
9 45 x & = <70 9 /Y X7 = /Lé
10 &7 x 7 = L3 10 7L X 4 = LES




